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TH AR FRE T TR EREET (i 1
BhAEBE AN TT ¢ 75mm Ehi 1
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1T.X HPE ¢ 75,

PP ¢ 50-13 &M (EFH)

BB K OV E S

4 W b5ikisg B & | ww
TAE B
[&#1]
BE o
EFZOfES ¢ 75mm 10 1 11 A
¢ 75mm
EFFZ R 11° 1/4 2 2 #
EFFyv 7 & 75m 1 1 #
R KE & 50
BARF—7 TAFAEL | 545 0.00 + 7.5 + 1.0 63.0 m
R 9 9 A
ARY=F L5 ¢ 13mm 6.5 6.5 m
¢ 50mm 1.0 1.0 m
PPV Ak ¢ 13mn 1 3 3 @
¢ 50mm 1 2 2 #
PV Aroh ¢ 13mm 1 1 1 "
EFE F R A4y KR | ¢ 75mm > ¢ 13um 1 3 3 A
& 75mn X & 50mm 1 2 2 ]
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1TX

HPE ¢ 75, PP ¢ 5013 &)

i R E R
b it EHA TR BB |
TAGETHB)
[77%]
RUF L ERHHR T ¢ 75mm 54.5 54.5 m
¢ 50mm 1.0 1.0 m
¢ 13mm 6.5 6.5 m
RU=F L EHT ¢ 75mm 1 1 m]
BE R Dok FEAUR Rew s
AE RS AT T ¢ 75mm 10+ 1+ 2 41+ + 14 |&pn
[EETES
R L R — Y W T ¢ 75mm 54.5 - 0.00 54.5 m
R —7 ek L 63.0 63.0 m
BV R ik
PPHET T ¢ 13mm + 3.0 + 8.0 11 O
TR R Viroh
¢ 50mm + 20 + 40 6 O
EFEA
Sy AKEEEAT L | ¢ 75mx ¢ 13 3 3 P
EFEA
& 750m X ¢ 50um 2 2 AT
Ay BIIRFosEE| 2.6 2.6 ke
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1T

WEEMHE (KR 25

4 B kS B ECEKX
TS CH) (S5
RVE=FL A7 | o 75mm 1.177 X 2.180 26 | ke
BESTGAT M| 2.6 ke
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508 1 g X 650 wog =1 SV, & EE
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+ T . & K
(DHPE ¢ 75mmA7 5% T2 & 75 ERH)= 0.90 m
KB e (W) KRR (C)
EoeE(D2)  0.090 HHIHE (W) 0.55 + 0.55 m
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.86 0.090 + 0.1)= 0.58 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.87 0.3 - 0.16)=  0.23 m
fig g (W) TR (hl) EL T
B = 0.55 X 0.490 0.0064 = 0.26 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
il R R EHERL T
B sy = 0.58 - 0.9 = 058 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
Koy & M EOME e D2:| 7 B 90
1 |PP¢ 13mm 21.5 0.55 W 7 JHIE 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g o3
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 K
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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10 w 01 X 6070 @ TE @
70 o 01 X G0 0v-0u TE @
90 w 01 X 9670 +EA NI
90 u 01 X 650 ALYquooT=1 SV | T MY R
07 w 01 X 002 AL yquogr=1 sy R [l
HEE T 32 WG ¢ 4@ R W%
= VB =) &> (L EO
VN SRR W =(H)X & =D
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+ T & R
QPP ¢ 50mmAf % T &7 H ER(ID= 090 m
KB e (W) KRR (C)
BNt (D2) 0.060 PHImE (W) 0.55 + 0.55 m
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 x( 0.86 + 0.060 + 0.1)= 0.56
FEHIE (W) FRHD PHERENH)
A= 0.55 % ( 0.74 - 0.300 - 0.16)=  0.15
FEHIE (W) R (h1) B
P = 0.55 X  0.160 - 0.0028 = 0.09 m
FEHIE (W) FRHD WHRE(h)
A R = X ( - - )=
EHl & A EHEEL BB
7% ALy = 0.56 - +~ 09 = 056 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
EA B HEH I D2:| 6 B 60
1 |PP ¢ 13mm 21.5 0.55 W:| 6 EAE UL 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
PP ¢ 40mm
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mn|  220.0 0.75 =
12 |DCIP(GX) ¢ 250mn|  271.6 0.80 EE,
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 |DCIPGX) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 i
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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97 w 9 X 0F°0 FH Lot %4
50 w 9 X L0°0 il TE @
10 i 9 X 2070 0v-0 TE @
97 w ¢9 X 0F°0 +EA NI
9°¢ w 9 X G660 A yquwoor=1 sy [ TEOMEY R
0°¢l w 9 X 002 AL yquogr=1 sy R [l
HEER T xEdme] ¢ 4@ o WA W%
= VB =(O)BEH>; (B B
| VAR ERnEE W m =(H)X & C =D
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+ T O & R
PP ¢ 13mmAf 58 LHEE 5 ER(I)= 065 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.61 + 0.0215 + 0.1)=  0.40 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.300 - 0.16 )= 0.02 nt
PEHE (W) HRE (h1) R
WHE= 0.55 X  0.1215 - 0.0004 = 0.07 ol
PEHE (W) FRHLD PWHERENH) WA
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.40 - +~ 09 = 040 m
SKE R (H) 1, S HIBRys S
D2 F4ME—E 3 (mm)
X753 woOf BOME FLHE D2:| 1 (EANES 21.5
Wl 1 T Il 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 |[PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGX) 0 300m| 322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 |DCIPGX) ¢ 400m|  425.6 0.95 Y
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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1T PP¢50-13 BHMURER)

BB K OV E S

% ks ¥ OB | wa

TKE B
[&#]

RYxFL 48 ¢ 50um 58.7 587 | m

¢ 13mm 7.9 7.9 m

PPxILR ¢ 50mm 2 2 #

¢ 13mm 1 X 3 3 1

PV LR ¢ 13mm 1 X 3 3 1

PP 2 ® 50mm 1 1 1

EFyy ¢ 75mm 2 2 1

i Ao ¢ 50mm 2 2 A

PPE FHF N A3 AKE | ¢ 50mnX ¢ 13mm 4 4 ]

EFE AN A543 7KAR | ¢ 75m X ¢ 50mm 2 2 #

AL ¢ 50mm 58.7 58.7 m

¢ 13mm 1.5 1.5 m

FREBIN AR vy & 50mm 2 2 ]

¢ 13nm 1 1 1
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1T.X PP¢50-13 HEBEURR)

B B K OVE U

G2 1 pSikisy 8 | ww
TAGETHB)
[77%]
AU FLEHBT| ¢ 50m 58.7 58.7 m
¢ 13mm 7.9 7.9 m
TR Vb FR =i
PPHET T ¢ 50mm 40 + 20 + 20 + 4.0 12 O
TR R
¢ 13mm 12.0 + + 4.0 16 O
s
AEEGRFL ¢ 75mm 2.0 9 S
l)l)ééf»}%
SAERTT T | 650mx ¢ 13m| 4.0 4 P
EF% Al
& 75mm X ¢ H0mm 2.0 2 b
R ERET ¢ 50mm 58.7 58.7 m
¢ 13mm 1.5 1.5 m
ney FETIATysE| 710 7.7 | ke
AT T TH BRI T T 18.1 18.1 ke
FEGRA LT | 14.8 14.8 kg
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1T WMEBEMHAE(RR) 245

BB K OV E S

% Pk ¥ OB | wa
FAKE#HED g EFEE
RYxFLos g7 ¢ 50mm 58.7 X 1.216 714 | ke
¢ 13mm 1.5 %0.184 0.3 ke
BESFGAT v B 717 ke
g EFEE
PP RPN AS K | o50mx ¢13m| 4.0 X 4.53 18.1 ke
R Ty 7| 18.1 ke
g EFEE
PPaLR ¢ 50mm 2.0 X 317 6.3 ke
¢ 13mm 3.0 X 0.34 1.0 ke
PV LR ¢ 13mm 3.0 X 0.37 1.1 ke
PP/ roh ¢ 50mm 1.0 X 291 2.9 ke
il VA & 50mm 2.0 X 1.73 3.5 ke
GRS F 7| 148 | ke
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+ T . & K
(DPP ¢ 50mmAfi 7% T4 5 ERID= 0.30 m
KB e (W) KRR (C)
EoeE(D2)  0.060 HHIHE (W) 0.55 + = 0.55
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.26 + 0.060 + 0.1)= 0.23 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.27 - - 0.16 )= 0.06 m
FEHIE (W) R (h1) B
P = 0.55 X  0.160 - 0.0028 = 0.09 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL R LR
¥y = 0.23 - +~ 09 = 023 m
KB R (H1) 13, SHEE R IRk 2

D2: FAME—F23R (nm)

X5y wOA BoME AR D2:| 6 (EANES 60
1 (PP ¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

7 |EF ¢ 75mm 90.0 0.55

8 |EF¢100m | 125.0 0.55

9 |DCIP¢ 125m| 143.0 0.65

10 |EF ¢ 150m__| 180.0 0.55

11_|DCIPGX) 6 200m| 250.0 0.60 R
12 |DCIP(GX) ¢ 250mm] 271.6 0.70 ::F—,
13 |DCIPGX) ¢ 300m|  322.8 0.70 <

14 |[pcipGx) ¢ 350m|  374.0 0.90 g g
15_[DCIPGX) ¢ 400m| _425.6 0.95 | 8| ~
16_|DCIP(GX) 6 450m| _476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 0.65 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.022 + 0.1)=  0.40
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 055 X 0.122 - 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y B EoME FLHE D2:| 1 (EANES 21.5
Wl 1 T HIl g 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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1T.X HPE ¢ 75,

PP ¢ 13 &M (AKFK)

BB K OV E S

% B HAE Mg | B

TKIE BUR
[&#1]
BE g

EFZOfES ¢ 75mn 12+ 1 13 A

75 S ¢ 75mn 1 1 #

EFY Aok ¢ 75mn 1 1 #

g RE

BT —7 FARAEL | 63.0 - 000 + 6.0 69.0 m

7 ——¥HL 5 5 A

Rz F L ¢ 13mm 6.0 6.0 m

PPV Ak ¢ 13mn 1 X 5 5 @

EFE RV 4 KK | & 75mm X ¢ 13mm 1 X 5 5 A
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1T.X HPE ¢ 75, PP ¢ 13 HHRR)

% NE A P
b T it FRR O W oE |
T AKIE HU
[##%]
AY=F L EFRH L ¢ 75mm 63.0 63.0 m
¢ 13mm 6.0 6.0 m
AUz BT & 75mm 1 1 m
BE BT VErh
AEEAATE T ¢ 75mm 2+ 1+ 2 4+ + + + 15 |&5
e
R L R — T BT ¢ T5mm 63.0 - 0.00 63.0 m
R T— 7R L 69.0 69.0 m
BV PR ik
PPHETF T. ¢ 13mm + 5.0 + 10.0 15 ]
TIVEE
TIUVHEET ¢ 75mm 1 + 1 m]
EFE H
SARRE T | o75mx ¢13m| 5 5 030
T
TV HEERALL] ¢ 75mm 1 1 O
EOFEREAARS  H=940mm 1 1 T
AIG T FEFER T 4.5 4.5 kg
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1T WMEBEMAE(KR) 245

BB K OV E S

% Pk %8 | ww
FAKGE Hig g EFEE
R F Lo & 75mm 0.000 X 2.180 0.0 ke
BTIAFv I 0.0 ke
g EFEE
TV & 75mm 1.0 X 4.53 4.5 kg
BRITy 7| 45 kg
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+ T . & K
(DHPE ¢ 75mmA7 5% T2 & 75 ERH)= 0.90 m
KB B e (W) KRR (C)
wore(D2) 0.090 PHImE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
WH &= 0.55 X( 0.86 0.090 + 0.1)= 0.58 m
FEHIE (W) EXR(HD WHEREH
A= 0.55 X ( 0.87 0.3 - 0.16)=  0.23 m
T HE (W) HY LIS (h1) CLIEE
B = 0.55 X 0.490 0.0064 = 0.26 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
EHl & A EHEEL BB
7% sy 0.58 - 0.9 = 058 m
B R (L) 1, Sl S HI PRk K
D2: FAME R (mm)
EA EOME HEH I D2:| 7 B 90
1 |PP¢ 13mm 21.5 0.55 W 7 JHIE 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g g
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 —0d
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 090 m
KB B e (W) KRR (C)
B (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.86 + 0.022 + 0.1)=  0.54
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.74 - 0.300 - 0.16)=  0.15
PEHE (W) HRE (h1) R
P = 055 X 0.122 - 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.54 - +~ 09 = 054 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y B EoME FLHE D2:| 1 (EANES 21.5
Wl 1 T HIl g 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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1T PP¢50-13 BHMURER)

BB K OV E S

% FF ks ¥ OB | wa
T KB HLH
[&#]
RYxFL 48 ¢ 50um 60.0 60.0 | m
¢ 13mm 9.5 9.5 m
PPxILR ¢ 50mm 2 2 #
¢ 13mm 1 X 5 5 1
PV LR ¢ 13mm 1 X 5 5 1
PP 2 ® 50mm 1 1 1
Bl ¢ 75mm 1 1 (E]
i Ao ¢ 50mm 2 2 A
I ¢ T5mm 1 1 1
PP BN A4 7K | & 50mm X & 13 6 6 fE
EFE AN A 53 7KER | 6 75m X ¢ 50m 2 9 #
AL ¢ 50mm 56.0 56.0 m
¢ 13mm 2.5 2.5 m
FREBIN AR vy & 50mm 2 2 ]
¢ 13nm 1 1 1
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1T.X PP¢50-13 HEBEURR)

4

HiAg

B B K OVE U

T AKIE HU
[77%]
Rz FLoEHHRL & 50mm 60.0 60.0 m
¢ 13mm 9.5 9.5 m
TR Viroh FR =i
PPAETT. ¢ 50mm 40 + 2.0 + 20 + 4.0 12 O
TR R
¢ 13mm 20.0 + + 6.0 26 O
TV E
TV HEET ¢ 75mm 1.0 1 m]
Fp
AEEAATE T ¢ 75mm 1.0 1 S
l)l)ﬁé&%
SAERTT T | 650mx ¢ 13m| 6.0 6 P
EFE

& 75mm X ¢ H0mm 2.0 2 b

RERERET ® 50mm 56.0 56.0 m

¢ 13mm 2.5 2.5 m

VCIERLF

T70 YV HERRSMNL T ¢ 75mm 1.0 1 ]
5 EFAIARZ| H=940mm 1.0 1 S

[ FETIAT s T4 74T | ke

AT G TH BRIT T 27.2 27.2 ke

FEGRA LT | 29.8 29.8 kg
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1T WMEBEMHAE(RR) 245

BB K OV E S

% Pk ¥ OB | wa

T KIE B g EFEE
RYxFLos g7 ¢ 50mm 60.0 X 1.216 73.0 | ke
¢ 13mm 9.5 x0.184 1.7 ke
BESFGAT v IR 747 ke

g EFEE
PPE TNV KR | ¢50mx ¢ 13m| 6.0 X 4.53 27.2 kg
BRAITo 7| 21.2 kg

g EFEE
PPaLR ¢ 50mm 2.0 X 317 6.3 ke
¢ 13mm 5.0 X 0.34 1.7 ke
PV LR ¢ 13mm 50 X 0.7 1.8 ke
PP/ roh ¢ 50mm 1.0 X 291 2.9 ke
il v A & 50mm 2.0 X 1.73 3.5 ke
VCEFLS ¢ 75mm 1.0 %X 136 13.6 | ke
GRS T 298 | ke
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10 m SV AL E
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+ T . & K
(DPP ¢ 50mmAfi 7% T4 5 ERID= 0.30 m
KB B e (W) KRR (C)
EoeE(D2)  0.060 HHIHE (W) 0.55 + = 0.55
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.26 + 0.060 + 0.1)= 0.23 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.27 - - 0.16 )= 0.06 m
FEHIE (W) R (h1) B
P = 0.55 X  0.160 - 0.0028 = 0.09 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL R LR
¥y = 0.23 - +~ 09 = 023 m
KB R (H1) 13, SHEE R IRk 2

D2: FAME—F23R (nm)

X5y wOA BoME AR D2:| 6 (EANES 60
1 (PP ¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

7 |EF ¢ 75mm 90.0 0.55

8 |EF¢100m | 125.0 0.55

9 |DCIP¢ 125m| 143.0 0.65

10 |EF ¢ 150m__| 180.0 0.55

11_|DCIPGX) 6 200m| 250.0 0.60 R
12 |DCIP(GX) ¢ 250mm] 271.6 0.70 ::F—,
13 |DCIPGX) ¢ 300m|  322.8 0.70 <

14 |[pcipGx) ¢ 350m|  374.0 0.90 g g
15_[DCIPGX) ¢ 400m| _425.6 0.95 | 8| ~
16_|DCIP(GX) 6 450m| _476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 0.65 m
KB B e (W) KRR (C)
B (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.022 + 0.1)=  0.40
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 055 X 0.122 - 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y B EoME FLHE D2:| 1 (EANES 21.5
Wl 1 T HIl g 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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2T.X HPE ¢ 75, PP ¢ 13 BM(ERER)

BB K OV E S

4 ki BB | ww
TAE B
[&#1]
HE o)
EFZOfES ¢ 75mm 4+ 1 5 A
Fhmed
VIR — S ¢ 75mm 1 1 #
S IR
fHaE JWWA B 132 1+ 1 HH
Ry
RB25 (K) 2+ 2 #
- EpEE
RA25 (A) 1+ 1 #
THRE
RC25(C) 1+ 1 A
JESRR
RS25(S) 1+ 1 HH
IV & 75m 1 1 #
EFY Ao b ¢ 75mmn 2 2 #
¢ 75mm
EF R &R 22° 1/2 2 2 #
PVyafh & 75m 1 1 @
e RE
PRT—7 TR | 285 - 0.780 + 2.0 29.7 m
~7—F—HL 4 4 5]
AT LB ¢ 13mm 2.0 2.0 m
PP Aok ¢ 13mm 1 X 1 1 A
EEE R SAKE | ¢ 75m > ¢ 13an ! 1 ]
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2T X HPE ¢ 75, PP ¢ 13 HEERE)

i N s = | s
TARBHBh
[##]
Y= FLAEER T & 75mm 27.7 27.7 m
¢ 13mm 2.0 2.0 m
RURFLEOMFT | ¢ 75mm 3 m]
wE ) Vs REAR
A EAAETE T & 75mm 4+ 1 + 4 + 2 o+ + 11 |
PVYadvh
AH=HAHRFL | ¢ T5mmAF 2 2 =]
EmEE e
O ERE T ¢ 75mm 1 1 AT
TILVEE
I VRFET ¢ 75mm 1+ 1 0
675 e
ARVmFL R — BT T5mPA T 285 - 078 + 27.7 m
R —7 ek T 29.7 29.7 m
Viroh R
PPHEF T ¢ 13mm 20 + 1.0 3 )
EFE R
SAERIAT T | ¢ 75mx ¢ 13um 1 1 &
TV E
T VFERSNLT ¢ 75mm 1 1 0
D05 E PRI AR E|  H=040m 1 1 S
ney FETTAT s 30 3.7 | ke
AT T ATy T | 4.5 4.5 kg
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2T WEEMHE KR 25

BB K OV E S

% Pk ¥ OB | wa
TKIE B EB (EEHE
RYxFLos g7 ¢ 75mm 1.692 X% 2.180 3.7 ke
BESTAT v IHE| 3.7 ke
EB (EEHE
75V ¢ 75mm 1.0 X 4.53 4.5 ke
BEAITY T | 4.5 kg
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+ T . & K
(DHPE ¢ 75mmA7 5% T2 & 75 ERH)= 0.90 m
KB e (W) KRR (C)
EoeE(D2)  0.090 HHIHE (W) 0.55 + 0.55 m
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.86 0.090 + 0.1)= 0.58 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.87 0.3 - 0.16)=  0.23 m
fig g (W) TR (hl) EL T
B = 0.55 X 0.490 0.0064 = 0.26 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
il R R EHERL T
B sy = 0.58 - 0.9 = 058 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
Koy & M EOME e D2:| 7 B 90
1 |PP¢ 13mm 21.5 0.55 W 7 JHIE 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g o3
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 K
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 0.65 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.022 + 0.1)=  0.40
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 055 X 0.122 - 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y B EoME FLHE D2:| 1 (EANES 21.5
Wl 1 T HIl g 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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2T.X PP¢40-13 BEHMURER)

BB K OV E S

B R b5ikisg ¥ B | aw
TAE B
[&#1]
VPE B Wi AR Aby = ¢ 75mm 1 1 A
e PRz
faFE JWWA B 132 1+ 1 @
Ry
RB25 (K) 1+ 1 #
- EpEE
RA25(A) 1+ 1 #
R
RB25(B) 2+ 2 j
TREE
RC25(C) 1+ 1 @
JEChR
RS25 (S) 1+ 1 il
VPE FEIE ¢ 75mm 1 1 i)
TT ¢ 75mm 1 1 A
ARY=F L5 ¢ 40mmn 33.0 33.0 m
¢ 13mm 1.3 1.3 m
b7 ¢ 40m 2 2 @
PPaLIR ¢ 40m 2 2 @
¢ 13mm 1 1 #
PVLAR ¢ 13mm 1 1 j
DIPE R4y k48 | ¢ 75mm X & 40mm 1 1 el
VPR YR A5 KR | ¢ 75m < ¢ 40mm 1 1 "
PP R LA 7K | ¢ 40mm X ¢ 13um 1 1 e
ESIRAE & 40mm 31.0 31.0 m
¢ 13mm 0.5 0.5 m
Fa LRI VA e v ¢ 40mm 2 2 A
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2T K PP¢40-13 HBURR)

B B K OVE U

B Fr Pk ¥ B | s
FAE B
[##%]
RUmFLUERHT ¢ 40m 33.0 33.0 1 m
¢ 13mm 1.3 1.3 m
AH=AVHETF T | ¢ 75mmEL T 1 + 1 m]
REAKAb N -FRE T ¢ 75mm 1 1 AT
e P E R T ¢ 75mm 1 1 P
P
TIUVHEET ¢ 75mm 1 + 1 m]
AR R F—ho T
PPHETF T. ¢ 40w 4 + 2 + 4 10 ]
TR R
¢ 13mm 4 + 1 5 ]
DIPE A
SAKERET T | ¢ 75mx ¢ 40m 1 1 P
VPE A
& 75mm X & 40mm 1 1 5T
l)l)ééfrﬁﬁ
& 40mm X & 13mm 1 1 ”,jfﬁﬁ—
VCEELE
T VFERSNLT ¢ 75mm 1 1 m]
D05 E PRI AR E|  H=040m 1 1 S
sy BErIAForEl 677 67.7 kg
AT Ty T BRI TS 1.7 1.7 kg
FERRAI T | 26.6 26.6 kg
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2T WEEMHE(RR) 25

BB K OV E S

B B pSikisy ¥ &
T KIE B R EEER
RYEF L3 ¢ 40mm 3.0 X 2.18 67.6
¢ 13mm 0.5 X 018 0.1

BT IAF IR 67.7

%8 (FEHEER

PPERHFN A5 | ¢ 40mn > ¢ 13am 1.0 X 1.70 1.7

AN

%8 (FEHEER

VCHEE1E & 75m 1.0 X 13.6 13.6
PPaLIR ¢ 40mm 2.0 X 2.16 4.3
A —rsL7 ¢ 40mn 7.9 X 1.10 8.7

JEEERI T | 26.6
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+ T . & K
(DPP ¢ 40mmAf 5% T3 E 75 ERH)= 0.30 m
KB e (W) KRR (C)
B (D2)  0.048 HHIHE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.26 0.048 + 0.1)= 0.22 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.27 - 0.16 )= 0.06 m
fig g (W) TR (hl) EL T
B = 0.55 X 0.148 0.0018 = 0.08 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
EHl & A EHEEL BB
B sy = 0.22 - 0.9 = 022 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
EA EOME HEH I D2:| 5 B 48
1 |PP¢ 13mm 21.5 0.55 W:| 5 JHIE 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30nm
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g o3
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 —0d
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 0.65 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.022 + 0.1)=  0.40
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 055 X 0.122 - 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y B EoME FLHE D2:| 1 (EANES 21.5
Wl 1 T HIl g 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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BB K OV E S

B R b5ikisg ¥ B | aw
TAE B
[&#1]
RYzFL A ¢ 30mm 51.0 51.0 m
& 20mn 0.5 0.5 m
¢ 13mm 2.0 2.0 m
PP LR ¢ 30mn 2 2 "
M)A ¢ 30mm 1 1 A
fHaE JWWA B 132 1 1 @
YN
RB25 (K) 2 2 #
T AR
RAC25 (CA) 1 1 #
AR
RS25(S) 1 1 il
B4 BN A4 KK | ¢ 75am X ¢ 30mm 1 1 #
ppsF—X & 30mm X ¢ 13mm 2 2 {E
& 30mm X ¢ 20mn 1 1 A
PPV Aok ¢ 13mm 2 2 #
¢ 20mm 1 1 #
Rk
BRT—7 FARAEL| 510 + 2.5 53.5 m
oA 6 6 A
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TRE S
[F¥#]
RUZF LB T ¢ 30mm 51.0 51.0 m
¢ 20mm 0.50 0.5 m
¢ 13mm 2.0 2.0 m
AR EELT F—X bt
PPiEFT. ¢ 30mm 40 + 20 + 60 + 1.0 13 ]
Fx
¢ 20mm 1.0 1 ]
FoX
¢ 13mm 2.0 + + 2 ]
e P E R T ¢ 30mm 1 1 AT
=3
AR T | ¢75mx ¢30m) 1.0 1 &
R T—7 R L 53.5 53.5 m
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e

I=EN
(DPP ¢ 30mmAfi 7% LA A5 ERID= 0.65 m
KB e (W) KRR (C)
EoE(D2)  0.042 JHIE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
PLH L E= 0.55 X ( 0.61 0.042 + 0.1)=  0.41 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.62 0.3 - 0.16)=  0.09 m
fig g (W) TR (hl) EL T
B = 0.55 X 0.442 0.0014 = 0.24 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
EHl & A EHEEL BB
FRb )= 0.41 - 0.9 = 041 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
EA B HEH I D2:| 4 B 42
1 |PP¢ 13mm 21.5 0.55 W 4 JHIE 0.55
2 |PP ¢ 20mm 27.0 0.55
PP ¢ 25mm 34.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 |DCIPGX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 |DCIPGX) ¢ 350m|  374.0 0.90 g g
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 —0d
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
QPP ¢ 20mmA[ 5% THE A ER(ID= 0.65 m
KB e (W) KRR (C)
BNt (D2) 0.027 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.62 + 0.027 + 0.1)=  0.41
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 055 X 0.127 - 0.0006 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.41 - +~ 09 = 041 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y wOA BoME AR D2:| 2 (EANES 27
1 |PP ¢ 13mm W: | 2 L 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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+ T O & R
PP ¢ 13mmAf 58 LHEE 5 ER(I)= 065 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.62 + 0.0215 + 0.1)=  0.41 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.300 - 0.16 )= 0.02 nt
PEHE (W) HRE (h1) R
P = 0.55 X  0.1215 - 0.0004 = 0.07 ol
PEHE (W) FRHLD PWHERENH) WA
A = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.41 - +~ 09 = 041 o
SKE R (H) 1, S HIBRys S
D2 F4ME—E 3 (mm)
X5y woOf BOME FLHE D2:| 1 (EANES 21.5
Wl 1 T Il 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 |[PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGX) 0 300m| 322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 |DCIPGX) ¢ 400m|  425.6 0.95 Y
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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% ks & | =um
T KBS

[&#1]
ARY=F L5 ¢ 30mn 51.5 51.5 m
® 20mm 2.3 2.3 m
¢ 13mm 3.1 3.1 m
PPaLR ¢ 30mm 2 2 2]
& 20mm 1 1 1
& 13mm 2 2 1
=L ¢ 30mm 1 1 #
PP —2 & 40mm X & 30mm 1 1 "
& 30mm X ¢ 13um 2 2 "
& 30mm X & 20mm 1 1 j
PVaULR ¢ 20mm 1 1 1
& 13mm 2 2 1
AL ¢ 30mm 51.5 51.5 m
¢ 20mm 0.5 0.5 m
¢ 13mm 1.0 1.0 m
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3T X PP¢30-13 HBURR)

4 Fr

HiAg

B B K OVE U

FAE B
[F¥#]
AY=F L EFRH L ¢ 30mm 51.5 51.5 m
¢ 20mm 2.3 2.3 m
¢ 13mm 3.1 3.1 m
F—R
PPiEFT. ¢ 40mm 2.0 2 ]
B N e A S
¢ 30mm 40 + 20 + 7.0 + 13 ]
Fe X AR
¢ 20mm 1.0 + 4.0 + 5 ]
FeZ TR
¢ 13mm 20 + 40 + 6 ]
R EHET ¢ 30mm 51.5 515 | m
¢ 20mm 0.5 0.5 m
¢ 13mm 1.0 1.0 m
Loy B LSt 31.0 31.0 ke
AT Gy T EEEAYTy | 114 114 | ke
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2T WEEMHE(RR) 25

4 Fr

HiAg

BB K OV E S

K E#HES g EFEE
AT L ¢ 30mm 51.5 X 0.60 30.6 ke
¢ 20mm 0.5 X 0.27 0.1 ke
¢ 13mm 1.0 X 0.18 0.2 ke
BES ATy 8| 310 | ke

g EFEE
PP —X o40mex ¢30m) 1.0 X 2.71 2.7 ke
& 30mm X ¢ 13mm 2.0 X 1.61 3.2 ke
& 30mm X ¢ 20um 1.0 X 1.67 1.7 ke
i ¢ 40mm 1.0 X 0.82 0.8 ke
PPxILIR ¢ 30mm 2.0 X 1.47 2.9 ke
AT 7| 114 | ke
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+ T . & K
(DPP ¢ 20mmAfi 7% T4 A5 ERID= 0.65 m
KB e (W) KRR (C)
B (D2)  0.027 JHIE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
PLH L E= 0.55 X ( 0.61 0.027 + 0.1)=  0.41 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.62 - 0.16)=  0.25 m
RS (W) BY MR (h1) B
B = 0.55 X 0.127 0.0006 = 0.07 m
FEHIE (W) FRHD WHRE(h)
A R = X ( - )= m
A+ & AR R
FRb )= 0.41 - 0.9 = 041 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
X743 wOA BoME FLHE D2:| 2 AN 27
1 |PP ¢ 13mm 21.5 0.55 W:| 2 JHIE 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g g
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 K
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 0.65 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.022 + 0.1)=  0.40
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 055 X 0.122 - 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
il R R EHERL T
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y B EoME FLHE D2:| 1 (EANES 21.5
Wl 1 T HIl g 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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BB K OV E S

0 ks ¥ B | aw
TKIE BUR
[&#1]
ARY=F L5 ¢ 30mn 32.0 32.0 m
¢ 13mm 3.0 3.0 m
PPx LR ¢ 30mm 2 2 18
PPF—X ¢ 30mm X ¢ 13um 1 1 @A
PP/ Ak ¢ 13mm 2 2 A
& 30m X ¢ 13mm 1 1 A
YN
R — TR 32.0 + 3.0 35.0 m
= —H—HL 3 3 A
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3TIX PP¢30-20-13 HHEAZ)

LR VB T .
b s B R OB R g | w
TAGHE
[##]
RYZF LB T ¢ 30mm 32.0 32.0 m
¢ 13mm 3.0 3.0 m
EN Vrvh FR
PPHEF T ¢ 30mm 40 + 1.0 + 20 + 7 =]
F—K Viroh
¢ 13mm 1.0 + 5.0 + 6 =]
R — 7k L 35.0 35.0 m
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+ T

P

[= N

e

I=EN
(DPP ¢ 30mmAfi 7% LA A5 ERID= 0.65 m
KB B e (W) KRR (C)
EoE(D2)  0.042 JHIE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
PLH L E= 0.55 X ( 0.61 0.042 + 0.1)=  0.41 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 0.62 0.3 - 0.16)=  0.09 m
FEHIE (W) R (h1) B
B = 0.55 X 0.442 0.0014 = 0.24 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
EHl & A EHEEL BB
FRb )= 0.41 - 0.9 = 041 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
EA B HEH I D2:| 4 B 42
1 |PP¢ 13mm 21.5 0.55 W 4 JHIE 0.55
2 |PP ¢ 20mm 27.0 0.55
PP ¢ 25mm 34.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 |DCIPGX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 |DCIPGX) ¢ 350m|  374.0 0.90 g g
15 |DCIPGX) ¢ 400mn|  425.6 0.95 K
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
QPP ¢ 13mnAf 58 LHEE A ER(ID= 0.65 m
KB B e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 0.022 + 0.1)=  0.40
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
P = 0.55 X 0.122 0.0004 = 0.07 m
PEHE (W) FRHLD WHRE(h)
AR = X ( - )=
T FAEHEEL ER Y
7% LAy = 0.40 - 0.9 = 040 i
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y woE BOME FLHE D2:| 1 (EANES 21.5
Wl 1 L 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 [EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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3T.X PP¢30-13 BHMURER)

BB K OV E S

0 ks ¥ OB | wa

T KB HLH
[&#]

RyxFr % ® 30mm 36.8 36.8 m

¢ 13mm 1.6 1.6 m

PPaLR ¢ 30mm 6 6 (E]

¢ 13nm 2 2 1

PPF—X ¢ 30mm X ¢ 13um 1 1 ]

PP/ 4w b 30X $13 1 1 1

PVaULR ¢ 13mm 2 2 1

AL ® 30mm 36.8 36.8 m

¢ 13mm 1.0 1.0 m
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3T X PP¢30-13 HBURR)

B B K OVE U

% B b5ikisg ¥ B | aw
S
[77%]
RUF L ERHHR T ¢ 30mm 36.8 36.8 m
¢ 13mm 1.6 1.6 m
TR ik g K
PPHETFT. ¢ 30mn 120 + 1.0 + 20 + 15 O
FeZ TR ik
¢ 13mm 1.0 + 80 + 1.0 10 O
RERERELT ¢ 30mm 36.8 36.8 m
¢ 13mm 1.0 1.0 m
N BTIRFosEEl 22.1 22.1 kg
AT T T EMAI T 7| 114 11.4 ke
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ST WEEMHE (KRR &5

P _— i &R P
FAKGE Hig g EFEE
AT L ¢ 30mm 36.8 X 0.60 21.9
¢ 13mm 1.0 X 0.18 0.2
BES ATy M| 22.1
g EFEE
PPF—X & 30mn > ¢ 13am 1.0 X 1.61 1.6
PP ok & 30me X & 13mm 1.0 X 0.92 0.9
PPxILIR ¢ 30mm 6.0 X 1.47 8.8

JFEERITT | 114
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+ T . & K
(DPP ¢ 13mmAfi 5% LA A5 ERID= 0.65 m
KB B e (W) KRR (C)
B (D2)  0.022 HHIHE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
PLH L E= 0.55 X ( 0.61 0.022 + 0.1)=  0.40 m
RHIE (W) FRED WHEEER) R
A= 0.55 X ( 0.62 - 0.16)=  0.25 m
fig g (W) TR (hl) EL T
B = 0.55 X = 0.122 0.0004 = 0.07 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - )= m
EHl & A EHEEL BB
¥y = 0.40 - 0.9 = 040 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
D2:| 1 BoME 21.5
W 1 1 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm| 322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g o3
15 |[DCIPGX) ¢ 400m|  425.6 0.95 — 03
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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AT.X PP¢50-20-13 &EHH(AEK)

BB K OV E S

% B HAE Mg | B
TKIE BUR
[&#1]
RYzFL A ¢ 50mm 12.0 12.0 m
¢ 20mm 14.0 14.0 m
¢ 13mm 5.0 5.0 m
PPV Ay ¢ 50mn X ¢ 20 1 1 1
6 20mm X ¢ 13 1 1 ]
¢ 13mm 2 2 #
PP LR ¢ 20mn 1 1 "
PPF—X ¢ 20mm X ¢ 13 1 1 A
Fkad
VI — A ¢ 50mm 1 1 A
[AR7IE S JWWA B 132 1+ 1 A
YN
RB25 (K) 2+ 2 #
- EpEE
RA25 (A) 1+ 1 #
TR
RC25(C) 1+ 1 @
AR
RS25(S) 1+ 1 il
SUSaT{+
MEY'aA4h & 50m 2 2 @
DIPAE BN 45 KA | 6 150mm % ¢ 50mn 1 1 @
s
RT—7 FOARAEL | 260 + 5.0 31.0 m
= —H—H 3 3 ]
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AT X PP¢50-20-13 HHEOAZ)

b T it M BB O W oE |
T AKIE HU
[##%]
AY=F L EFRH L ¢ 50umm 12.0 12.0 m
¢ 20mm 14.0 14.0 m
¢ 13mm 5.0 5.0 m
Sk
PPk T. & 50mm + 1.0+ 1.0 2 =
TR ik F—X
¢ 20w 20 + 20 + 20 6 ]
TR ik F—X
¢ 13mm 40 + 50 + 1.0 10 ]
8P E T ¢ 50mm 1 1 T
MFY 340 b
AI=IJIViRF T | & 75mbA T 2.0 + 2 =
MFY 340 b
TR & 65mmLL T 2.0 2 0o
DIPE A
ASAKRTAT T | 0150mx ¢ 50m| 1.0 1 o
¢ 50
R L R — Y W T ¢ 50mm 12.0 12.0 m
R —7 ek L 31.0 31.0 m
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+ T . & K
(DPP ¢ 50mm (V8 HUE) 77 5% TSR H ERID= 0.90 m
KB B e (W) KRR (C)
EoeE(D2)  0.060 PHImE (W) 0.55 + = 0.55
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.8 + 0.060 + 0.1)= 0.53 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 085 - 0.1 - 029)= 0.25 m
FEHIE (W) R (h1) B
P = 0.55 X 0.260 - 0.0028 = 0.14 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL BB
7% ALy = 0.53 - + 09 = 053 m
KB R (H1) 13, SHEE R IRk 2

D2: FAME—F23R (nm)

X5y wOA BoME AR D2:| 6 (EANES 60
1 [PP¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

7 |EF ¢ 75mm 90.0 0.55

8 |EF¢100m | 125.0 0.55

9 |DCIP¢ 125m| 143.0 0.65

10 |EF ¢ 150m__| 180.0 0.55

11_|DCIPGX) 6 200m| 250.0 0.60 R
12 |DCIP(GX) ¢ 250mm] 271.6 0.70 ::F—,
13 |DCIPGX) ¢ 300m|  322.8 0.70 <

14 |[pcipGx) ¢ 350m|  374.0 0.90 g g
15_[DCIPGX) ¢ 400m| _425.6 0.95 | 8| ~
16_|DCIP(GX) 6 450m| _476.8 1.00
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+ T & R
QPP ¢ 50mm (OB AE) A7 58 TR BRH)= 0.90 m
KB B e (W) KRR (C)
HHR(D2) 0.060 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
PLH L E= 0.55 x( 0.87 + 0.060 + 0.1)=  0.57
PEHE (W) EXRMHD PHERENH)
WA= 0.55 % ( 0.78 - 0.100 - 0.12)=  0.31
T HE (W) HIRER (h1) CLIEE
WHE= 0.55 X  0.160 - 0.0028 = 0.09 m
PEHE (W) FRHLD WHEREH)
FH = X ( - - )=
T FAEHEEL ER Y
7% ALy = 0.57 - +~ 09 = 057 m
SR (HL) 1L, S EHIBRE
D2 & 4ME—E 3% (mm)
X5y wOA B AR D2:| 6 (EANES 60
1 |PP ¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
PP ¢ 40mm
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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+ T O & XK
PP ¢ 50mm (T1778) A% TEEEA ERI= 0.90 m
KB B HEHEIE (W) RARE(C)
B (D2) 0.060 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
)+ = 0.55 x( 0.8 + 0.06 + 0.1)= 056 ot
PEHE (W) FRHLD PHERENH)
WA= 0.55 x(  0.74 - 0.300 - 0.16)=  0.15 m
PEHE (W) HRE (h1) R
WHE= 0.55 X 0.16 - 0.0028 = 0.09 m
PEHE (W) FRHLD PWHERENH) WA
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
¥Ry = 0.56 - +~ 09 = 056 m
SKE R (H) 1, S HIBRys S
D2 F4ME—E 3 (mm)
X5y wOA BoME AR D2:| 6 (EANES 60
1 [PP¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40umm 48.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGX) 0 300m| 322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 |DCIPGX) ¢ 400m|  425.6 0.95 Y
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & & K
DPP ¢ 20mmA[ 58 TH ER(I)= 065 m
KB B e (W) KRR (C)
B (D2) 0.027 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.027 + 0.1)= 041
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.3 - 0.16)=  0.02
fig g (W) TR (h1) EL T
P = 0.55 X 0.127 - 0.0006 = 0.07 m
PEHE (W) FRHLD WHRE(h)
FH = X ( - - )=
EE FAEHEEL ER Y
¥ AL = 0.41 - = 09 = 041 no
KB R (H1) 13, SHEE R BRyE 2
D2: & S F (mm)
X5y wOA (EANES D2:| 2 (EANES 27
1 |PP ¢ 13mm Wl 2 L 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ), W)
8 |EF ¢ 100mm 125.0 0.55 _|
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DOIP(GX) 6 300m| 322.8 0.85 =
14_|DCIPGX) ¢ 350mm|  374.0 0.90 < o
15 _|DCIP(GX) ¢ 400mm|  425.6 0.95 ﬁ]
16 [peipcx) o 450m| 476.8 1.00 ]
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+ T . & K
PP ¢ 20mm A7 5% 13087 BERI)= 0.41 m
PP ¢ 20mm e (W) KRR (C)
BNt (D2) 0.022 PHImE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
WH &= 0.55 x(  0.41 + 00215 + 0.1)=  0.29 m
FEHIE (W) FRHD PHERENH)
A= 055 x( 049 - 03 - 0.16)=  0.02 m
FEHIE (W) R (h1) B
P = 0.55 X 0.1215 - 0.0004 = 0.07 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL BB
FE LR = 0.29 - =~ 09 = 029 m
KB R (H1) 13, SHEE R IRk 2
D2: FAME R (mm)
X5y HE EOME AR D2:| 1 B 21.5
W 1 1 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIPGX) ¢ 200mm] 220.0 0.75 =
12 |DCIPGX) ¢ 250mm|  271.6 0.80 =
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 |DCIPGX) ¢ 350m|  374.0 0.90 < 3
15 |bCIPGX) ¢ 400m|  425.6 0.95 Y
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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AT.X PP¢50-20-13 &EH(KEX)

BB K OV E S

Z ) HiAg %8 | ww

T AKGE B

[&#1]

RYV=FL o E ¢ 25um 12.5 125 | m
¢ 20mm 14.0 14.0 m
¢ 13mm 1.6 1.6 m
PP/ Ak ¢ 2bmm X ¢ 20 1 1 ]
¢ 20mmX ¢ 13 1 1 (E]
PPLIR & 20nm 1 1 2]
& 13mm 2 2 (E]
PV LR ¢ 13mm 2 2 (E]
PPF-—=R ¢ 20m X ¢ 13 1 1 e
e ¢ 25mm 1 1 A
DIPAE BN 45 7K | 6 150mm % ¢ 25mn 1 1 @
Rl ¢ 25mm 1.0 1.0 m
¢ 20mm 14.0 14.0 m
¢ 13mm 0.5 0.5 m
R &R LAk ¢ 25mm 1 1 i)
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AT X

PP ¢ 50-20-13 AR

B E P

b s RO # g |
S
[77%]

RUF L ERHHR T ¢ 25mm 12.5 12.5 m
¢ 20mm 14.0 14.0 m

¢ 13mm 1.6 1.6 m

e FRA T
PPHETF T. ¢ 25mn + 1.0 + 1.0 + 20 4 =]
TR ik F—X
¢ 20mm 20 + 2.0 + 2.0 6 O
EN Vrvh FR
¢ 13mm 40 + 1.0 + 1.0 6 O
DIPEH

SyRBEIRA T | o 150mmx ¢ 25m| 1.0 1 FalEn

(RAE T 025m | 125 125 | m

¢ 20mm 14.0 14.0 m

¢ 13mm 0.5 0.5 m

WLy BEFIAF 0B 0.1 9.1 ke

AT T TH FEgERITo 7| 2.9 2.9 ke
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4T WEEMHE(RR) 25

BB K OV E S

Z 0 HiAg %8 | ww

FAKGE Hig g EFEE

AT L ¢ 25mm 12.5 X 0.42 5.3 ke
¢ 20mm 14.0 X 0.27 3.8 ke
¢ 13mm 0.5 X 0.18 0.1 ke

BESIGAT v B 9.1 ke
i) (BEFER)

i ¢ 25mm 1.0 X 0.60 0.6 ke
PP —X 020mex ¢13m) 1.0 X 0.71 0.7 kg
PP ok & 25me X & 20mn 1.0 X 0.67 0.7 ke

¢ 20um X ¢ 13mm 1.0 X 0.48 0.5 ke
PPxILIR ¢ 20mm 1.0 X 0.49 0.5 ke
ATy 2.9 ke
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+ T . & K
DPP ¢ 25mm (VAH HH) Ak LS ERH)= 0.65 m
KB B e (W) KRR (C)
wore(D2) 0.034 PHImE (W) 0.55 + = 0.55 m
FEHIE (W) FRHD EHE Hewh
PEH 8= 0.55 X ( 0.55 + 0.034 + 0.1)=  0.38 m
FEHIE (W) EXR(HD WHEREH
A= 0.55 X ( 06 - 0.1 - 0.29)= 0.12 m
fig g (W) TR (hl) EL T
B = 0.55 X 0.234 - 0.0009 = 0.13 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL BB
5 ALy 0.38 - +~ 09 = 038 m
B R (L) 1, Sl S HI PRk K
D2: FAME R (mm)
X743 wOA BoME FLHE D2:| 3 AN 34
1 |PP¢ 13mm 21.5 0.55 W:| 3 JHIE 0.55
PP ¢ 20
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.55
11 |DCIPGX) ¢ 200mm]  250.0 0.60 -
12 [DCIP(GX) ¢ 250mm|  271.6 0.70 é—:,
13 |DCIP(GX) ¢ 300mm|  322.8 0.70 <
14 [DCIP(GX) ¢ 350m|  374.0 0.90 g o3
15 |DCIP(GX) ¢ 400mn|  425.6 0.95 —0d
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T & R
@PP ¢ 25mm (JE AR ) A ik LR ER(ID= 0.65 m
KB B e (W) KRR (C)
HHR(D2) 0.034 PHImE (W) 0.55 + 0.55 m
FEHIE (W) EXRMHD EHE Hewh
PLH L E= 0.55 x( 0.62 + 0.034 + 0.1)= 0.4l
FEHIE (W) EXRMHD PHERENH)
WA= 0.55 % ( 0.53 - 0.100 - 0.12)=  0.17
T HE (W) HIRER (h1) CLIEE
R = 0.55 X 0.134 - 0.0009 = 0.07 m
FEHIE (W) FRHLD WHRE(h)
A R = X ( - - )=
T A EHEEL BB
7% ALy = 0.41 - +~ 09 = 041 m
KA R (HL) 13, Sl HI Ry s
D2 & 4ME—E 3% (mm)
X743 wOA BoME FLHE D2:| 3 AN 34
1 |PP ¢ 13mm 21.5 0.55 W:| 3 EAE UL 0.55
PP ¢ 20nm 27.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 |PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 |EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 [EF ¢ 150mm 180.0 0.50
11 [DCIPGX) ¢ 200mm|  220.0 0.75 -
12 [DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 [DCIP(GX) ¢ 400mn|  425.6 0.95 0
16 [pcIpGx) ¢ 450m|  476.8 1.00
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+ T O & R
@PP ¢ 25mm (T13E) fEK TEE A ER(I)= 065 m
KB B e (W) KRR (C)
B (D2) 0.034 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.61 + 0.034 + 0.1)= 041 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.300 - 0.16 )= 0.02 nt
PEHE (W) HRE (h1) R
WHE= 0.55 X 0.134 - 0.0009 = 0.07 m
PEHE (W) FRHLD PWHERENH) WA
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.41 - +~ 09 = 041 o
SKE R (H) 1, S HIBRys S
D2 F4ME—E 3 (mm)
X5y AR BoME AR D2:| 3 BN 34
1 |PP ¢ 13mm 21.5 0.55 Wl 3 L 0.55
PP ¢ 20mm 27.0 0.5b
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 |[PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGY) ¢ 300m|  322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 _|DCIP(GX) ¢ 400mm|  425.6 0.95 ﬁ]
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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+ T O & R
@PP ¢ 13mnAf 58 LHE A5 ER(I)= 065 m
KB B e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.60 + 0.0215 + 0.1)=  0.40 m
RHIE (W) FRED WHEEER) R
WA= 0.55 x( 049 - 0.3 - 0.16)=  0.02 nt
PEHE (W) HRE (h1) R
WHE= 0.55 X  0.1215 - 0.0004 = 0.07 ol
PEHE (W) FRHLD WHEREH)
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
¥ AL = 0.40 - = 09 = 040 mo
SKE R (H) 1, S HIBRys S
D2 F4ME—E 3 (mm)
D2:] 1 AN 21.5
Wl 1 T Il 0.55
2 [PP ¢ 20mm 27.0 0.55
3 _|[PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ), (W) _(©)
8 |EF ¢ 100mm 125.0 0.55 _| I
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DOIP(GX) 6 300m| 322.8 0.85 =
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 _|DCIP(GX) ¢ 400mm|  425.6 0.95 ﬁ]
16 [peipcx) o 450m| 476.8 1.00 ] ]
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+ T & R
GPP ¢ 25mm (VA E HUE) HiE TR EGHE BERI)= 0.65 m
e (W) KRR (C)
BNt (D2) 0.034 PHImE (W) 0.55 + = 0.55 m
R (W) EF(H) TG e
WH &= 0.55 x( 0.65 + 0.034 + 0.1)=  0.43 m
PEHE (W) EFRH) BAEA40 RN
WA= 0.55 x( 0.65 + 0.134 - 0.29)=  0.27 m
fig g (W) TR (h1) EL T
R = X - = m
fig g (W) ERHL WREIE(h)
R = X - - )= m
EE FAEHEEL ER Y
7 = 0.43 - + 09 = 043 m
KB R (H1) 13, SHEE R IRk 2
D2 & 4ME—E 3% (mm)
X5y wOA BoME FLHE D2:| 3 (EANES 34
1 |PP ¢ 13mm 21.5 0.55 W:| 3 EAE UL 0.55
2 |PP ¢ 20mm 27.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 o
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 [peip@x o s00m|  322.8 0.85 =
14 [pCIPGX) ¢ 350m|  374.0 0.90 < 3
15 [DCIP(GX) ¢ 400mm| 425.6 0.95 _\;0_1
16 |DCIPGX) ¢ 450m|  476.8 1.00
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+ T . & K
PP ¢ 13mnAf 5% THEE A5 ERID= 0.65 m
PP ¢ 13mm HEHEIE (W) RARE(C)
B (D2) 0.034 e (W) 0.55 + = 0.55 m
HRHIE (W) B (H) ENE i
A= 0.55 x( 0.65 + 0.034 + 0.1)=  0.43 m
PEHE (W) EFR(H) BAEF01 B
WA= 0.55 x( 0.65 + 0.134 - 0.12)=  0.37 m
fig g (W) TR (h1) EL T
W5 = X - = ut
PEHE (W) FRHLD PWHERENH) WA
T = X ( - - )= m
il R R EHERL T
P = 0.43 - + 09 = 043 nuf
B R (L) 1, Sl S HI PRk K
D2 & 4ME—E 3% (mm)
ESS B AR D2:| 3 B 34
1 (PP ¢ 13mm 21.5 0.55 W:| 3 L 0.55
2 |PP ¢ 20mm 27.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 |PP ¢ 40mm 48.0 0.55
6 [PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 (), w) | ©)
8 |EF ¢ 100mm 125.0 0.55 _| |
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 0.50
11 |[DCIPGX) ¢ 200mn|  220.0 0.75 :I:
12 |peP@x o 250m|  271.6 0.80 -~
13 [DCIPGX) ¢ 300m| 322.8 2.40 | =
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 VO]
16 [peipcx) ¢ 450m|  476.8 1.00 ] ]
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5TX PP¢50-40-13 HEH(AEK)

BB K OV E S

B R b5ikisg ¥ B | aw
TAE B
[&#1]
Rz FL 48 ¢ 50mm 59.0 59.0 m
¢ 40mm 1.3 1.3 m
¢ 13mm 8.7 8.7 m
PP/ Ak ¢ 50mm 2 2 #
PPxLAR & 40mm 1 1 #
¢ 13mm 3 3 #
PVILR ¢ 13mm 3 3 #
PPF—R ¢ 50mm X ¢ 40 1 1 #
Fkad
V7R A T ¢ 50mm 1 1 A
[AR7IE S JWWA B 132 1+ 1 A
SRS
RB25 (K) 2+ 2 #
- EpEE
RA25 (A) 1+ 1 "
TR
RC25(C) 1+ 1 j
AR
RS25(S) 1+ 1 il
SUSaTHF
MEY'aA4h & 50mn 2 2 #
DIPE FH N A0 KR | ¢ 75mn X ¢ 50mm 1 1 "
BRT—7 FTARAEL | 59.0 + 10.0 69.0 m
7= H—¥ 5 5 A
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5TL.X PP¢50-40-13 HH(AZ)

& ks BB R OE K ¥ o | wi
FAE B
[##%]

AY=F L EFRH L ¢ 50umm 59.0 59.0 m
¢ 40mm 1.3 1.3 m

¢ 13mm 8.7 8.7 m

Viroh R F—K
PPk T. & 50mm + 20 + 1.0 + 2.0 5 =
TR F—X
¢ 40umm 2.0 + + 1.0 + 3 ]
TR
¢ 13mm 12.0 + + 12 ]
ERES L
8P E T ¢ 50mm 1 1 T
MFY 340 b
AI=IJIViRF T | & 75mbA T 2.0 + 2 =
MFY 340 b
TR & 65mmLL T 2.0 2 0o
DIPE

SABRET T | o75mx ¢50m| 1.0 1 ST

R —7 ek L 69.0 69.0 m
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+ T . & K
(DPP ¢ 50mmAfi 7% T4 5 BERIE)= 0.90 m
KB e (W) KRR (C)
BNt (D2) 0.060 PHImE (W) 0.55 + = 0.55
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.86 + 0.060 + 0.1)= 0.56 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 087 - 03 - 0.16)=  0.23 m
FEHIE (W) R (h1) B
P = 0.55 X 0.460 - 0.0028 = 0.25 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL BB
7% ALy = 0.56 - + 09 = 056 m
KB R (H1) 13, SHEE R IRk 2

D2: FAME—F23R (nm)

X5y wOA BoME AR D2:| 6 (EANES 60
1 (PP ¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

7 |EF ¢ 75mm 90.0 0.55

8 |EF¢100m | 125.0 0.55

9 |DCIP¢ 125m| 143.0 0.65

10 |EF ¢ 150m__| 180.0 0.55

11_|DCIPGX) 6 200m| 250.0 0.60 R
12 |DCIP(GX) ¢ 250mm] 271.6 0.70 ::F—,
13 |DCIPGX) ¢ 300m|  322.8 0.70 <

14 |[pcipGx) ¢ 350m|  374.0 0.90 g g
15_[DCIPGX) ¢ 400m| _425.6 0.95 | 8| ~
16_|DCIP(GX) 6 450m| _476.8 1.00
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+ T & R
QPP ¢ 410mnA[ 5% THE S ER(ID= 0.65 m
KB e (W) KRR (C)
BNt (D2) 0.048 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.61 + 0.048 + 0.1)=  0.42
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
WHE= 0.55 X  0.148 - 0.0018 = 0.08 m
PEHE (W) FRHLD WHEREH)
FH = X ( - - )=
EE FAEHEEL ER Y
7% ALy = 0.42 - +~ 09 = 042 m
KE R (H) 1, SZEEHIBRys S
D2 & 4ME—E 3% (mm)
X755 wOA BoME AR D2:| 5 (EANES 48
1 |PP ¢ 13mm 21.5 0.55 W:| 5 L 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 [EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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+ T O & R
PP ¢ 13mmAf 58 LHEE 5 ER(I)= 065 m
KB e (W) KRR (C)
BNt (D2) 0.022 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.61 + 0.0215 + 0.1)=  0.40 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.300 - 0.16 )= 0.02 nt
PEHE (W) HRE (h1) R
WHE= 0.55 X  0.1215 - 0.0004 = 0.07 ol
PEHE (W) FRHLD PWHERENH) WA
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.40 - +~ 09 = 040 m
SKE R (H) 1, S HIBRys S
D2 F4ME—E 3 (mm)
X753 woOf BOME FLHE D2:| 1 (EANES 21.5
Wl 1 T Il 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 |[PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGX) 0 300m| 322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 |DCIPGX) ¢ 400m|  425.6 0.95 Y
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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5TX PP¢50-30-13 BEH(AEK)

BB K OV E S

% B HAE Mg | B
okaE BUR
[&#1]
RYzFL A ¢ 50mm 34.0 34.0 m
¢ 30mm 0.5 0.5 m
¢ 13mm 6.3 6.3 m
PPV Ay ¢ 50mm 1 1 #
& 50mn X & 30mm 1 1 ]
PV Ak ¢ 30mm 1 1 #
PP LR ¢ 50mm 1 1 "
¢ 13mm 3 3 #
PVI/LR ¢ 13mm 3 3 A
Fkad
VI — A ¢ 50mm 1 1 A
fHaE JWWA B 132 1 1 @
YN
RB25 (K) 2 2 #
- EpEE
RA25 (A) 1 1 #
TR
RC25(C) 1 1 @
AR
RS25(S) 1 1 il
SUSaT{+
MEY'aA4h & 50m 2 2 @
PP BN A4 7K | ¢ 50mm X ¢ 13mm 4 4 18
Fa7KE
RT—7 TARAEL | 345 6.3 40.8 m
= —H—HL 5 5 ]
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5TL.X PP¢50-30-13 HH(AZ)

2 B % BB R OE K T
- AKTE E
[##%]

RUZF LB T ¢ 50umm 34.0 34.0 m
¢ 30umm 0.5 0.5 m

¢ 13mm 6.3 6.3 m

TR Ve
PPHEF T & 50mm 2.0 + 3.0 + + 5 0
Viroh
¢ 30umm + 3.0 + + 3 ]
TAR R
¢ 13mm 12.0 + + 4.0 16 ]
8P E T ¢ 50mm 1 1 T
MFY 340 b
AI=IJIViRF T | & 75mbA T 2.0 + 2 =
MFY 340 b
TR & 65m Ll T 2.0 2 0o
l)l)éé:'ﬁﬁ

SABRET T | 650mx ¢13u| 4.0 4 ST

R T— 7R L 40.8 40.8 m
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L'81 1 0ve X G50 wog =1 Sy & EE
L0 m SV AL E
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+ T . & K
(DPP ¢ 50mmAfi 7% T4 5 BERIE)= 0.90 m
KA B e (W) KRR (C)
BNt (D2) 0.060 PHImE (W) 0.55 + = 0.55
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.86 + 0.060 + 0.1)= 0.56 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 087 - 03 - 0.16)=  0.23 m
FEHIE (W) R (h1) B
P = 0.55 X 0.460 - 0.0028 = 0.25 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL BB
7% ALy = 0.56 - + 09 = 056 m
KB R (H1) 13, SHEE R IRk 2

D2: FAME—F23R (nm)

X5y wOA BoME AR D2:| 6 (EANES 60
1 (PP ¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

7 |EF ¢ 75mm 90.0 0.55

8 |EF¢100m | 125.0 0.55

9 |DCIP¢ 125m| 143.0 0.65

10 |EF ¢ 150m__| 180.0 0.55

11_|DCIPGX) 6 200m| 250.0 0.60 R
12 |DCIP(GX) ¢ 250mm] 271.6 0.70 ::F—,
13 |DCIPGX) ¢ 300m|  322.8 0.70 <

14 |[pcipGx) ¢ 350m|  374.0 0.90 g g
15_[DCIPGX) ¢ 400m| _425.6 0.95 | 8| ~
16_|DCIP(GX) 6 450m| _476.8 1.00
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+ T & R
QPP ¢ 30mmA[ 5% TH A ER(ID= 0.65 m
KA B e (W) KRR (C)
B (D2) 0.042 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.61 + 0.042 + 0.1)= 041 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02 m
PEHE (W) HRE (h1) R
WHE= 055 X  0.142 - 0.0014 = 0.08 m
PEHE (W) FRHLD WHEREH)
T = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.41 - +~ 09 = 041 m
KE R (H) 1, SZEEHIBRys S
D2 & 4ME—E 3% (mm)
X755 wOA BoME AR D2:| 4 (EANES 42
1 |PP ¢ 13mm 21.5 0.55 W: | 4 L 0.55
2 [PP ¢ 20mm 27.0 0.55
PP ¢ 25mm
5 [PP ¢ 40mm 48.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 [EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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+ T O & R
PP ¢ 13mmAf 58 LHEE 5 ER(I)= 065 m
KA B e (W) KRR (C)
B (D2) 0.022 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.0215 + 0.1)=  0.40 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.300 - 0.16 )= 0.02 nt
PEHE (W) HRE (h1) R
P = 0.55 X  0.1215 - 0.0004 = 0.07 ol
PEHE (W) FRHLD PWHERENH) WA
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R BRyE 2
D2: & S F (mm)
X5y woOf BOME FLHE D2:| 1 (EANES 21.5
Wl 1 T Il 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 |[PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGX) 0 300m| 322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 _|DCIP(GX) ¢ 400mm|  425.6 0.95 _\;0]
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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6 LIX. PP¢50-40-13 B (AEX)

BB K OV E S

% B b5ikisg Mg | B
okaE BUR
[&#1]
ARY=F L5 ¢ 50mmn 23.0 23.0 m
¢ 40mm 1.0 1.0 m
¢ 13mm 1.3 1.3 m
PP/ Ao b & 50mm X ¢ 40mm 1 1 A
PPaLIR ¢ 40mm 1 1 #
¢ 13mm 1 1 #
PVI/LR ¢ 40mm 1 1 A
¢ 13mm 1 1 #
Fkad
VI — A ¢ 50mm 1 1 A
fHaE JWWA B 132 1 1 @
YN
RB25 (K) 2 2 #
- EpEE
RA25(A) 1 1 #
TR
RC25(C) 1 1 @
AR
RS25(S) 1 1 il
SUSaT{+
MEY'aA4h & 50m 3 3 @
PP BN A4 7K | ¢ 50mm X ¢ 13mm 1 1 18
EIKE
PRT—7 TAEAEL | 240 1.3 25.3 m
oA 3 3 A
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6T X PP¢50-40-13 FHHEEZ)

B B K OVE U

D ks ¥ B | aw
- AKTE E
[77%]
AY=F L EFRH L ¢ 50mm 23.0 23.0 m
¢ 40mm 1.0 1.0 m
¢ 13mm 1.3 1.3 m
Viroh
PPAETFT. ¢ 50mm + 1.0 + + 1 !
EN Vrvh
¢ 40mm 4.0 + 1.0 + + 5 O
TR R
¢ 13mm 4.0 + + 1.0 5 O
8P E T ¢ 50mm 1 1 T
MFY 540
AH=IV#EFET. | ¢ 75mbl T 3.0+ 3 m]
MFY 540
TR ¢ 65mm LA T 3.0 3 m]
l)l)ﬁé&}fﬁ
SARRES T | 050mx ¢13m| 1.0 1 030
BT —/ T T 25. 28 m
TV RSN LT ¢ 50mm 1 1 m]
D05 E PRI AR E|  H=570m 1 1 S
AT T TH FEgERITo 7| 5.9 5.9 ke
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6 LXK MEEMHE KR 25

4 e B R OE X B B |w

Al OKB) (BEER)
VCEE1E ¢ 50mm 1.0 X 59 5.9 kg
JEFERIT 7| 5.9 kg
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+ T . & K
(DPP ¢ 50mmAfi 7% T4 5 BERIE)= 0.90 m
KA B e (W) KRR (C)
BNt (D2) 0.060 PHImE (W) 0.55 + = 0.55
FEHIE (W) FRHD EHE Hewh
BE 2= 0.55 X( 0.86 + 0.060 + 0.1)= 0.56 m
FEHIE (W) FRHD WHEREH
A= 0.55 X ( 087 - 03 - 0.16)=  0.23 m
FEHIE (W) R (h1) B
P = 0.55 X 0.460 - 0.0028 = 0.25 m
FEHIE (W) FRHD WHRE(h)
FH = X ( - - )= m
EHl & A EHEEL BB
7% ALy = 0.56 - + 09 = 056 m
KB R (H1) 13, SHEE R IRk 2

D2: FAME—F23R (nm)

X5y wOA BoME AR D2:| 6 (EANES 60
1 (PP ¢ 13mm 21.5 0.55 W:| 6 L 0.55
2 PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55

7 |EF ¢ 75mm 90.0 0.55

8 |EF¢100m | 125.0 0.55

9 |DCIP¢ 125m| 143.0 0.65

10 |EF ¢ 150m__| 180.0 0.55

11_|DCIPGX) 6 200m| 250.0 0.60 R
12 |DCIP(GX) ¢ 250mm] 271.6 0.70 ::F—,
13 |DCIPGX) ¢ 300m|  322.8 0.70 <

14 |[pcipGx) ¢ 350m|  374.0 0.90 g g
15_[DCIPGX) ¢ 400m| _425.6 0.95 | 8| ~
16_|DCIP(GX) 6 450m| _476.8 1.00
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+ T & R
QPP ¢ 410mnA[ 5% THE S ER(ID= 0.65 m
KA B e (W) KRR (C)
B (D2) 0.048 e (W) 0.55 + 0.55 m
PEHE (W) FRHLD EHE b
A= 0.55 x( 0.61 + 0.048 + 0.1)=  0.42
PEHE (W) FRHLD PHERENH)
WA= 0.55 % ( 0.49 - 0.300 - 0.16 )= 0.02
PEHE (W) HRE (h1) R
WHE= 0.55 X  0.148 - 0.0018 = 0.08 m
PEHE (W) FRHLD WHEREH)
FH = X ( - - )=
EE FAEHEEL ER Y
7% ALy = 0.42 - +~ 09 = 042 m
KE R (H) 1, SZEEHIBRys S
D2 & 4ME—E 3% (mm)
X755 wOA BoME AR D2:| 5 (EANES 48
1 |PP ¢ 13mm 21.5 0.55 W:| 5 L 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
6 PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 90.0 0.55
8 [EF ¢ 100mm 125.0 0.55
9 |DCIP¢ 125m| 143.0 0.65 N
10 [EF ¢ 150mm 180.0 0.50
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 ::é
13 |DCIPGX) ¢ 300m|  322.8 0.85 =
14 [pcipGx) ¢ 350m|  374.0 0.90 = g
15 |DCIP(GX) ¢ 400mm| 425.6 0.95 0
16 |DCIPGX) ¢ 450m|  476.8 1.00
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+ T O & R
PP ¢ 13mmAf 58 LHEE 5 ER(I)= 065 m
KA B e (W) KRR (C)
B (D2) 0.022 e (W) 0.55 + = 0.55 m
PEHE (W) FRHLD EHE b
WH &= 0.55 x( 0.61 + 0.0215 + 0.1)=  0.40 m
PEHE (W) FRHLD PHERENH)
WA= 0.55 x( 049 - 0.300 - 0.16 )= 0.02 nt
PEHE (W) HRE (h1) R
P = 0.55 X  0.1215 - 0.0004 = 0.07 ol
PEHE (W) FRHLD PWHERENH) WA
FOH LR = X ( - - )= m
EE FAEHEEL ER Y
7% ALy = 0.40 - +~ 09 = 040 m
KB R (H1) 13, SHEE R BRyE 2
D2: & S F (mm)
X5y woOf BOME FLHE D2:| 1 (EANES 21.5
Wl 1 T Il 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.55
4 |PP ¢ 30mm 42.0 0.55
5 PP ¢ 40mm 48.0 0.55
6 |[PP ¢ 50mm 60.0 0.55
7 |EF ¢ 75mm 89.0 0.55 ©) (C)
8 |EF ¢ 100mm 125.0 0.55
9 [DCIP ¢ 125mm| 143.0 0.65 N
10 |EF ¢ 150mm 180.0 2.00
11 |DCIP(GX) ¢ 200mm| 220.0 0.75 -
12 |DCIP(GX) ¢ 250mm| 271.6 0.80 \:E
13 |DCIPGX) 0 300m| 322.8 0.85 N
14 |DCIPGX) ¢ 350m|  374.0 0.90 < o
15 _|DCIP(GX) ¢ 400mm|  425.6 0.95 _\;0]
16 |DCIP(GX) ¢ 450mm| 476.8 1.00
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[&#1]
GHI
PEFL O #38EUTTE | ¢ 75uuX ¢ 75mm 1 e
THEf s
AR |79y A 1 ®
Hi
HFAGH AR E | 450 X 350-200 1 f#
z\g‘ﬂﬂ‘
450 X 350-200 1 j
CHREF
450 X 350-200 1 "
AT
680 X 200-40 1 1
PR 7 AR | ¢ T5u X 150m 1 e
EFY Ao b ¢ 75mn 1 1
[77%]
EREa
TH KRR T HF 1
ik
RlEEEGHTE T ¢ 75mm 2

Mk B -5

BB K OV E S




